
Multiplicación (A)Halle cada producto.12 × 1 = 12 × 7 = 5 × 12 = 11 × 12 = 10 × 12 = 9 × 12 = 2 × 12 = 8 × 12 = 12 × 12 = 6 × 12 = 0 × 12 = 4 × 12 = 12 × 3 = 9 × 12 = 9 × 12 = 12 × 4 = 12 × 11 = 12 × 1 = 2 × 12 = 12 × 3 = 12 × 7 = 10 × 12 = 12 × 5 = 12 × 12 = 12 × 6 = 0 × 12 = 12 × 8 = 12 × 12 = 12 × 6 = 0 × 12 = 12 × 1 = 10 × 12 = 11 × 12 = 12 × 2 = 3 × 12 = 7 × 12 = 12 × 4 = 9 × 12 = 5 × 12 = 4 × 12 = 0 × 12 = 2 × 12 = 8 × 12 = 6 × 12 = 5 × 12 = 3 × 12 = 12 × 12 = 12 × 11 = 1 × 12 = 12 × 10 = 12 × 9 = 12 × 7 = 12 × 6 = 12 × 9 = 12 × 2 = 8 × 12 = 12 × 4 = 1 × 12 = 3 × 12 = 12 × 5 = 12 × 12 = 10 × 12 = 7 × 12 = 12 × 0 = 12 × 11 = 12 × 11 = 12 × 11 = 1 × 12 = 12 × 12 = 5 × 12 = 7 × 12 = 12 × 2 = 12 × 8 = 12 × 3 = 12 × 0 = 9 × 12 = 12 × 10 = 4 × 12 = 12 × 5 = 7 × 12 = 12 × 3 = 12 × 12 = 10 × 12 = 9 × 12 = 12 × 11 = 12 × 4 = 0 × 12 = 1 × 12 = 6 × 12 = 12 × 2 = 12 × 8 = 12 × 2 = 6 × 12 = 12 × 12 = 12 × 10 = 1 × 12 = 12 × 0 = 12 × 8 = 12 × 11 = 12 × 4 = MatesLibres.Com



Multiplicación (A) RespuestasHalle cada producto.12 × 1 = 12 12 × 7 = 84 5 × 12 = 60 11 × 12 = 13210 × 12 = 120 9 × 12 = 108 2 × 12 = 24 8 × 12 = 9612 × 12 = 144 6 × 12 = 72 0 × 12 = 0 4 × 12 = 4812 × 3 = 36 9 × 12 = 108 9 × 12 = 108 12 × 4 = 4812 × 11 = 132 12 × 1 = 12 2 × 12 = 24 12 × 3 = 3612 × 7 = 84 10 × 12 = 120 12 × 5 = 60 12 × 12 = 14412 × 6 = 72 0 × 12 = 0 12 × 8 = 96 12 × 12 = 14412 × 6 = 72 0 × 12 = 0 12 × 1 = 12 10 × 12 = 12011 × 12 = 132 12 × 2 = 24 3 × 12 = 36 7 × 12 = 8412 × 4 = 48 9 × 12 = 108 5 × 12 = 60 4 × 12 = 480 × 12 = 0 2 × 12 = 24 8 × 12 = 96 6 × 12 = 725 × 12 = 60 3 × 12 = 36 12 × 12 = 144 12 × 11 = 1321 × 12 = 12 12 × 10 = 120 12 × 9 = 108 12 × 7 = 8412 × 6 = 72 12 × 9 = 108 12 × 2 = 24 8 × 12 = 9612 × 4 = 48 1 × 12 = 12 3 × 12 = 36 12 × 5 = 6012 × 12 = 144 10 × 12 = 120 7 × 12 = 84 12 × 0 = 012 × 11 = 132 12 × 11 = 132 12 × 11 = 132 1 × 12 = 1212 × 12 = 144 5 × 12 = 60 7 × 12 = 84 12 × 2 = 2412 × 8 = 96 12 × 3 = 36 12 × 0 = 0 9 × 12 = 10812 × 10 = 120 4 × 12 = 48 12 × 5 = 60 7 × 12 = 8412 × 3 = 36 12 × 12 = 144 10 × 12 = 120 9 × 12 = 10812 × 11 = 132 12 × 4 = 48 0 × 12 = 0 1 × 12 = 126 × 12 = 72 12 × 2 = 24 12 × 8 = 96 12 × 2 = 246 × 12 = 72 12 × 12 = 144 12 × 10 = 120 1 × 12 = 1212 × 0 = 0 12 × 8 = 96 12 × 11 = 132 12 × 4 = 48MatesLibres.Com



Multiplicación (B)Halle cada producto.12 × 8 = 12 × 12 = 12 × 5 = 1 × 12 = 12 × 10 = 6 × 12 = 0 × 12 = 2 × 12 = 12 × 3 = 11 × 12 = 9 × 12 = 7 × 12 = 4 × 12 = 12 × 9 = 12 × 3 = 12 × 11 = 1 × 12 = 10 × 12 = 12 × 4 = 12 × 12 = 12 × 7 = 6 × 12 = 5 × 12 = 12 × 8 = 12 × 0 = 2 × 12 = 12 × 12 = 12 × 2 = 4 × 12 = 12 × 9 = 12 × 8 = 12 × 3 = 5 × 12 = 6 × 12 = 1 × 12 = 10 × 12 = 12 × 0 = 12 × 7 = 12 × 11 = 12 × 12 = 12 × 7 = 12 × 5 = 3 × 12 = 0 × 12 = 4 × 12 = 12 × 9 = 12 × 2 = 12 × 8 = 6 × 12 = 12 × 1 = 12 × 11 = 10 × 12 = 12 × 0 = 12 × 4 = 12 × 11 = 8 × 12 = 12 × 6 = 12 × 1 = 12 × 3 = 12 × 2 = 12 × 9 = 12 × 12 = 12 × 7 = 12 × 10 = 12 × 5 = 5 × 12 = 5 × 12 = 12 × 7 = 12 × 2 = 4 × 12 = 12 × 11 = 12 × 0 = 12 × 10 = 9 × 12 = 12 × 3 = 12 × 6 = 8 × 12 = 1 × 12 = 8 × 12 = 12 × 7 = 12 × 3 = 12 × 9 = 0 × 12 = 4 × 12 = 11 × 12 = 12 × 1 = 12 × 12 = 12 × 2 = 12 × 10 = 5 × 12 = 12 × 6 = 8 × 12 = 12 × 12 = 10 × 12 = 12 × 1 = 12 × 2 = 12 × 9 = 12 × 11 = 12 × 7 = 6 × 12 = MatesLibres.Com



Multiplicación (B) RespuestasHalle cada producto.12 × 8 = 96 12 × 12 = 144 12 × 5 = 60 1 × 12 = 1212 × 10 = 120 6 × 12 = 72 0 × 12 = 0 2 × 12 = 2412 × 3 = 36 11 × 12 = 132 9 × 12 = 108 7 × 12 = 844 × 12 = 48 12 × 9 = 108 12 × 3 = 36 12 × 11 = 1321 × 12 = 12 10 × 12 = 120 12 × 4 = 48 12 × 12 = 14412 × 7 = 84 6 × 12 = 72 5 × 12 = 60 12 × 8 = 9612 × 0 = 0 2 × 12 = 24 12 × 12 = 144 12 × 2 = 244 × 12 = 48 12 × 9 = 108 12 × 8 = 96 12 × 3 = 365 × 12 = 60 6 × 12 = 72 1 × 12 = 12 10 × 12 = 12012 × 0 = 0 12 × 7 = 84 12 × 11 = 132 12 × 12 = 14412 × 7 = 84 12 × 5 = 60 3 × 12 = 36 0 × 12 = 04 × 12 = 48 12 × 9 = 108 12 × 2 = 24 12 × 8 = 966 × 12 = 72 12 × 1 = 12 12 × 11 = 132 10 × 12 = 12012 × 0 = 0 12 × 4 = 48 12 × 11 = 132 8 × 12 = 9612 × 6 = 72 12 × 1 = 12 12 × 3 = 36 12 × 2 = 2412 × 9 = 108 12 × 12 = 144 12 × 7 = 84 12 × 10 = 12012 × 5 = 60 5 × 12 = 60 5 × 12 = 60 12 × 7 = 8412 × 2 = 24 4 × 12 = 48 12 × 11 = 132 12 × 0 = 012 × 10 = 120 9 × 12 = 108 12 × 3 = 36 12 × 6 = 728 × 12 = 96 1 × 12 = 12 8 × 12 = 96 12 × 7 = 8412 × 3 = 36 12 × 9 = 108 0 × 12 = 0 4 × 12 = 4811 × 12 = 132 12 × 1 = 12 12 × 12 = 144 12 × 2 = 2412 × 10 = 120 5 × 12 = 60 12 × 6 = 72 8 × 12 = 9612 × 12 = 144 10 × 12 = 120 12 × 1 = 12 12 × 2 = 2412 × 9 = 108 12 × 11 = 132 12 × 7 = 84 6 × 12 = 72MatesLibres.Com



Multiplicación (C)Halle cada producto.5 × 12 = 12 × 8 = 12 × 11 = 3 × 12 = 12 × 12 = 1 × 12 = 12 × 6 = 7 × 12 = 12 × 9 = 10 × 12 = 0 × 12 = 4 × 12 = 12 × 2 = 7 × 12 = 12 × 11 = 8 × 12 = 12 × 12 = 12 × 0 = 12 × 6 = 2 × 12 = 9 × 12 = 12 × 10 = 12 × 1 = 3 × 12 = 5 × 12 = 12 × 4 = 6 × 12 = 12 × 3 = 12 × 10 = 12 × 2 = 8 × 12 = 12 × 12 = 1 × 12 = 0 × 12 = 5 × 12 = 7 × 12 = 4 × 12 = 11 × 12 = 9 × 12 = 12 × 5 = 3 × 12 = 12 × 7 = 12 × 10 = 8 × 12 = 12 × 4 = 12 × 11 = 9 × 12 = 12 × 12 = 12 × 2 = 1 × 12 = 6 × 12 = 12 × 0 = 12 × 5 = 0 × 12 = 10 × 12 = 8 × 12 = 12 × 7 = 12 × 12 = 12 × 2 = 12 × 1 = 3 × 12 = 12 × 11 = 12 × 9 = 6 × 12 = 4 × 12 = 12 × 1 = 12 × 1 = 5 × 12 = 4 × 12 = 10 × 12 = 12 × 3 = 12 × 6 = 12 × 8 = 7 × 12 = 12 × 12 = 0 × 12 = 12 × 9 = 11 × 12 = 12 × 1 = 12 × 9 = 12 × 8 = 12 × 7 = 5 × 12 = 12 × 4 = 12 × 6 = 12 × 11 = 12 × 0 = 12 × 12 = 12 × 10 = 12 × 2 = 3 × 12 = 12 × 5 = 9 × 12 = 8 × 12 = 12 × 4 = 6 × 12 = 12 × 10 = 2 × 12 = 12 × 12 = 0 × 12 = MatesLibres.Com



Multiplicación (C) RespuestasHalle cada producto.5 × 12 = 60 12 × 8 = 96 12 × 11 = 132 3 × 12 = 3612 × 12 = 144 1 × 12 = 12 12 × 6 = 72 7 × 12 = 8412 × 9 = 108 10 × 12 = 120 0 × 12 = 0 4 × 12 = 4812 × 2 = 24 7 × 12 = 84 12 × 11 = 132 8 × 12 = 9612 × 12 = 144 12 × 0 = 0 12 × 6 = 72 2 × 12 = 249 × 12 = 108 12 × 10 = 120 12 × 1 = 12 3 × 12 = 365 × 12 = 60 12 × 4 = 48 6 × 12 = 72 12 × 3 = 3612 × 10 = 120 12 × 2 = 24 8 × 12 = 96 12 × 12 = 1441 × 12 = 12 0 × 12 = 0 5 × 12 = 60 7 × 12 = 844 × 12 = 48 11 × 12 = 132 9 × 12 = 108 12 × 5 = 603 × 12 = 36 12 × 7 = 84 12 × 10 = 120 8 × 12 = 9612 × 4 = 48 12 × 11 = 132 9 × 12 = 108 12 × 12 = 14412 × 2 = 24 1 × 12 = 12 6 × 12 = 72 12 × 0 = 012 × 5 = 60 0 × 12 = 0 10 × 12 = 120 8 × 12 = 9612 × 7 = 84 12 × 12 = 144 12 × 2 = 24 12 × 1 = 123 × 12 = 36 12 × 11 = 132 12 × 9 = 108 6 × 12 = 724 × 12 = 48 12 × 1 = 12 12 × 1 = 12 5 × 12 = 604 × 12 = 48 10 × 12 = 120 12 × 3 = 36 12 × 6 = 7212 × 8 = 96 7 × 12 = 84 12 × 12 = 144 0 × 12 = 012 × 9 = 108 11 × 12 = 132 12 × 1 = 12 12 × 9 = 10812 × 8 = 96 12 × 7 = 84 5 × 12 = 60 12 × 4 = 4812 × 6 = 72 12 × 11 = 132 12 × 0 = 0 12 × 12 = 14412 × 10 = 120 12 × 2 = 24 3 × 12 = 36 12 × 5 = 609 × 12 = 108 8 × 12 = 96 12 × 4 = 48 6 × 12 = 7212 × 10 = 120 2 × 12 = 24 12 × 12 = 144 0 × 12 = 0MatesLibres.Com



Multiplicación (D)Halle cada producto.3 × 12 = 12 × 2 = 11 × 12 = 5 × 12 = 12 × 10 = 8 × 12 = 12 × 4 = 1 × 12 = 12 × 6 = 9 × 12 = 12 × 12 = 12 × 0 = 12 × 7 = 12 × 2 = 12 × 2 = 12 × 12 = 12 × 10 = 12 × 1 = 12 × 4 = 12 × 9 = 5 × 12 = 12 × 8 = 12 × 7 = 11 × 12 = 12 × 0 = 12 × 3 = 12 × 10 = 7 × 12 = 12 × 6 = 12 × 3 = 1 × 12 = 12 × 8 = 12 × 0 = 12 × 12 = 12 × 4 = 9 × 12 = 5 × 12 = 12 × 11 = 12 × 2 = 12 × 12 = 7 × 12 = 0 × 12 = 9 × 12 = 12 × 4 = 11 × 12 = 5 × 12 = 3 × 12 = 12 × 6 = 12 × 10 = 12 × 8 = 12 × 1 = 2 × 12 = 8 × 12 = 12 × 4 = 9 × 12 = 12 × 5 = 1 × 12 = 12 × 0 = 7 × 12 = 12 × 2 = 3 × 12 = 6 × 12 = 12 × 10 = 12 × 11 = 12 × 12 = 12 × 4 = 4 × 12 = 12 × 11 = 1 × 12 = 3 × 12 = 6 × 12 = 12 × 10 = 0 × 12 = 12 × 2 = 7 × 12 = 12 × 9 = 12 × 12 = 12 × 8 = 8 × 12 = 3 × 12 = 12 × 7 = 4 × 12 = 11 × 12 = 2 × 12 = 6 × 12 = 12 × 1 = 9 × 12 = 12 × 12 = 12 × 0 = 10 × 12 = 12 × 5 = 10 × 12 = 12 × 1 = 2 × 12 = 4 × 12 = 12 × 9 = 12 × 7 = 12 × 12 = 0 × 12 = 12 × 8 = MatesLibres.Com



Multiplicación (D) RespuestasHalle cada producto.3 × 12 = 36 12 × 2 = 24 11 × 12 = 132 5 × 12 = 6012 × 10 = 120 8 × 12 = 96 12 × 4 = 48 1 × 12 = 1212 × 6 = 72 9 × 12 = 108 12 × 12 = 144 12 × 0 = 012 × 7 = 84 12 × 2 = 24 12 × 2 = 24 12 × 12 = 14412 × 10 = 120 12 × 1 = 12 12 × 4 = 48 12 × 9 = 1085 × 12 = 60 12 × 8 = 96 12 × 7 = 84 11 × 12 = 13212 × 0 = 0 12 × 3 = 36 12 × 10 = 120 7 × 12 = 8412 × 6 = 72 12 × 3 = 36 1 × 12 = 12 12 × 8 = 9612 × 0 = 0 12 × 12 = 144 12 × 4 = 48 9 × 12 = 1085 × 12 = 60 12 × 11 = 132 12 × 2 = 24 12 × 12 = 1447 × 12 = 84 0 × 12 = 0 9 × 12 = 108 12 × 4 = 4811 × 12 = 132 5 × 12 = 60 3 × 12 = 36 12 × 6 = 7212 × 10 = 120 12 × 8 = 96 12 × 1 = 12 2 × 12 = 248 × 12 = 96 12 × 4 = 48 9 × 12 = 108 12 × 5 = 601 × 12 = 12 12 × 0 = 0 7 × 12 = 84 12 × 2 = 243 × 12 = 36 6 × 12 = 72 12 × 10 = 120 12 × 11 = 13212 × 12 = 144 12 × 4 = 48 4 × 12 = 48 12 × 11 = 1321 × 12 = 12 3 × 12 = 36 6 × 12 = 72 12 × 10 = 1200 × 12 = 0 12 × 2 = 24 7 × 12 = 84 12 × 9 = 10812 × 12 = 144 12 × 8 = 96 8 × 12 = 96 3 × 12 = 3612 × 7 = 84 4 × 12 = 48 11 × 12 = 132 2 × 12 = 246 × 12 = 72 12 × 1 = 12 9 × 12 = 108 12 × 12 = 14412 × 0 = 0 10 × 12 = 120 12 × 5 = 60 10 × 12 = 12012 × 1 = 12 2 × 12 = 24 4 × 12 = 48 12 × 9 = 10812 × 7 = 84 12 × 12 = 144 0 × 12 = 0 12 × 8 = 96MatesLibres.Com



Multiplicación (E)Halle cada producto.12 × 10 = 3 × 12 = 12 × 12 = 7 × 12 = 12 × 1 = 12 × 6 = 4 × 12 = 2 × 12 = 0 × 12 = 11 × 12 = 12 × 9 = 5 × 12 = 8 × 12 = 4 × 12 = 4 × 12 = 6 × 12 = 7 × 12 = 12 × 0 = 12 × 1 = 10 × 12 = 12 × 5 = 8 × 12 = 12 × 9 = 12 × 2 = 12 × 11 = 12 × 12 = 12 × 3 = 9 × 12 = 12 × 0 = 11 × 12 = 12 × 6 = 4 × 12 = 12 × 1 = 8 × 12 = 12 × 10 = 12 × 12 = 7 × 12 = 12 × 2 = 12 × 5 = 12 × 1 = 4 × 12 = 12 × 7 = 8 × 12 = 12 × 9 = 12 × 3 = 12 × 2 = 0 × 12 = 10 × 12 = 6 × 12 = 12 × 11 = 12 × 12 = 12 × 5 = 12 × 10 = 6 × 12 = 8 × 12 = 12 × 3 = 5 × 12 = 12 × 9 = 12 × 0 = 12 × 11 = 7 × 12 = 4 × 12 = 12 × 2 = 1 × 12 = 12 × 12 = 12 × 6 = 0 × 12 = 8 × 12 = 12 × 4 = 7 × 12 = 12 × 12 = 12 × 11 = 3 × 12 = 12 × 2 = 5 × 12 = 10 × 12 = 12 × 1 = 9 × 12 = 12 × 2 = 12 × 12 = 12 × 8 = 12 × 4 = 12 × 5 = 11 × 12 = 7 × 12 = 12 × 10 = 12 × 1 = 9 × 12 = 12 × 0 = 12 × 3 = 12 × 6 = 12 × 4 = 12 × 10 = 12 × 7 = 12 × 1 = 12 × 9 = 12 × 3 = 12 × 2 = 5 × 12 = 8 × 12 = MatesLibres.Com



Multiplicación (E) RespuestasHalle cada producto.12 × 10 = 120 3 × 12 = 36 12 × 12 = 144 7 × 12 = 8412 × 1 = 12 12 × 6 = 72 4 × 12 = 48 2 × 12 = 240 × 12 = 0 11 × 12 = 132 12 × 9 = 108 5 × 12 = 608 × 12 = 96 4 × 12 = 48 4 × 12 = 48 6 × 12 = 727 × 12 = 84 12 × 0 = 0 12 × 1 = 12 10 × 12 = 12012 × 5 = 60 8 × 12 = 96 12 × 9 = 108 12 × 2 = 2412 × 11 = 132 12 × 12 = 144 12 × 3 = 36 9 × 12 = 10812 × 0 = 0 11 × 12 = 132 12 × 6 = 72 4 × 12 = 4812 × 1 = 12 8 × 12 = 96 12 × 10 = 120 12 × 12 = 1447 × 12 = 84 12 × 2 = 24 12 × 5 = 60 12 × 1 = 124 × 12 = 48 12 × 7 = 84 8 × 12 = 96 12 × 9 = 10812 × 3 = 36 12 × 2 = 24 0 × 12 = 0 10 × 12 = 1206 × 12 = 72 12 × 11 = 132 12 × 12 = 144 12 × 5 = 6012 × 10 = 120 6 × 12 = 72 8 × 12 = 96 12 × 3 = 365 × 12 = 60 12 × 9 = 108 12 × 0 = 0 12 × 11 = 1327 × 12 = 84 4 × 12 = 48 12 × 2 = 24 1 × 12 = 1212 × 12 = 144 12 × 6 = 72 0 × 12 = 0 8 × 12 = 9612 × 4 = 48 7 × 12 = 84 12 × 12 = 144 12 × 11 = 1323 × 12 = 36 12 × 2 = 24 5 × 12 = 60 10 × 12 = 12012 × 1 = 12 9 × 12 = 108 12 × 2 = 24 12 × 12 = 14412 × 8 = 96 12 × 4 = 48 12 × 5 = 60 11 × 12 = 1327 × 12 = 84 12 × 10 = 120 12 × 1 = 12 9 × 12 = 10812 × 0 = 0 12 × 3 = 36 12 × 6 = 72 12 × 4 = 4812 × 10 = 120 12 × 7 = 84 12 × 1 = 12 12 × 9 = 10812 × 3 = 36 12 × 2 = 24 5 × 12 = 60 8 × 12 = 96MatesLibres.Com



Multiplicación (F)Halle cada producto.12 × 7 = 12 × 8 = 12 × 0 = 12 × 6 = 12 × 11 = 4 × 12 = 12 × 3 = 12 × 10 = 12 × 12 = 5 × 12 = 9 × 12 = 12 × 2 = 12 × 1 = 12 × 6 = 6 × 12 = 12 × 0 = 12 × 9 = 12 × 3 = 11 × 12 = 4 × 12 = 12 × 5 = 12 × 12 = 7 × 12 = 12 × 2 = 10 × 12 = 12 × 1 = 6 × 12 = 12 × 12 = 9 × 12 = 12 × 8 = 12 × 5 = 2 × 12 = 12 × 3 = 12 × 0 = 4 × 12 = 12 × 1 = 11 × 12 = 10 × 12 = 7 × 12 = 12 × 1 = 11 × 12 = 6 × 12 = 4 × 12 = 5 × 12 = 3 × 12 = 9 × 12 = 12 × 12 = 0 × 12 = 12 × 8 = 12 × 2 = 12 × 7 = 10 × 12 = 12 × 2 = 12 × 3 = 12 × 12 = 7 × 12 = 12 × 8 = 1 × 12 = 10 × 12 = 12 × 0 = 12 × 4 = 5 × 12 = 11 × 12 = 12 × 9 = 12 × 6 = 7 × 12 = 7 × 12 = 12 × 5 = 0 × 12 = 12 × 4 = 12 × 10 = 1 × 12 = 12 × 2 = 12 × 3 = 12 × 11 = 12 × 12 = 12 × 6 = 9 × 12 = 12 × 4 = 2 × 12 = 11 × 12 = 7 × 12 = 12 × 0 = 6 × 12 = 12 × 10 = 12 × 12 = 9 × 12 = 8 × 12 = 3 × 12 = 12 × 5 = 12 × 1 = 2 × 12 = 9 × 12 = 6 × 12 = 12 × 3 = 1 × 12 = 12 × 4 = 10 × 12 = 7 × 12 = 12 × 0 = MatesLibres.Com



Multiplicación (F) RespuestasHalle cada producto.12 × 7 = 84 12 × 8 = 96 12 × 0 = 0 12 × 6 = 7212 × 11 = 132 4 × 12 = 48 12 × 3 = 36 12 × 10 = 12012 × 12 = 144 5 × 12 = 60 9 × 12 = 108 12 × 2 = 2412 × 1 = 12 12 × 6 = 72 6 × 12 = 72 12 × 0 = 012 × 9 = 108 12 × 3 = 36 11 × 12 = 132 4 × 12 = 4812 × 5 = 60 12 × 12 = 144 7 × 12 = 84 12 × 2 = 2410 × 12 = 120 12 × 1 = 12 6 × 12 = 72 12 × 12 = 1449 × 12 = 108 12 × 8 = 96 12 × 5 = 60 2 × 12 = 2412 × 3 = 36 12 × 0 = 0 4 × 12 = 48 12 × 1 = 1211 × 12 = 132 10 × 12 = 120 7 × 12 = 84 12 × 1 = 1211 × 12 = 132 6 × 12 = 72 4 × 12 = 48 5 × 12 = 603 × 12 = 36 9 × 12 = 108 12 × 12 = 144 0 × 12 = 012 × 8 = 96 12 × 2 = 24 12 × 7 = 84 10 × 12 = 12012 × 2 = 24 12 × 3 = 36 12 × 12 = 144 7 × 12 = 8412 × 8 = 96 1 × 12 = 12 10 × 12 = 120 12 × 0 = 012 × 4 = 48 5 × 12 = 60 11 × 12 = 132 12 × 9 = 10812 × 6 = 72 7 × 12 = 84 7 × 12 = 84 12 × 5 = 600 × 12 = 0 12 × 4 = 48 12 × 10 = 120 1 × 12 = 1212 × 2 = 24 12 × 3 = 36 12 × 11 = 132 12 × 12 = 14412 × 6 = 72 9 × 12 = 108 12 × 4 = 48 2 × 12 = 2411 × 12 = 132 7 × 12 = 84 12 × 0 = 0 6 × 12 = 7212 × 10 = 120 12 × 12 = 144 9 × 12 = 108 8 × 12 = 963 × 12 = 36 12 × 5 = 60 12 × 1 = 12 2 × 12 = 249 × 12 = 108 6 × 12 = 72 12 × 3 = 36 1 × 12 = 1212 × 4 = 48 10 × 12 = 120 7 × 12 = 84 12 × 0 = 0MatesLibres.Com



Multiplicación (G)Halle cada producto.12 × 12 = 2 × 12 = 0 × 12 = 11 × 12 = 9 × 12 = 8 × 12 = 12 × 3 = 1 × 12 = 5 × 12 = 7 × 12 = 10 × 12 = 6 × 12 = 4 × 12 = 12 × 12 = 12 × 5 = 9 × 12 = 12 × 8 = 12 × 7 = 12 × 10 = 12 × 6 = 0 × 12 = 12 × 11 = 12 × 2 = 3 × 12 = 12 × 4 = 1 × 12 = 12 × 12 = 12 × 7 = 12 × 10 = 12 × 4 = 6 × 12 = 12 × 3 = 8 × 12 = 2 × 12 = 11 × 12 = 12 × 9 = 0 × 12 = 12 × 1 = 12 × 5 = 7 × 12 = 4 × 12 = 6 × 12 = 3 × 12 = 8 × 12 = 0 × 12 = 10 × 12 = 12 × 11 = 12 × 12 = 2 × 12 = 5 × 12 = 12 × 1 = 9 × 12 = 12 × 3 = 4 × 12 = 12 × 12 = 11 × 12 = 12 × 1 = 12 × 7 = 5 × 12 = 0 × 12 = 10 × 12 = 6 × 12 = 9 × 12 = 12 × 2 = 8 × 12 = 12 × 12 = 12 × 12 = 12 × 6 = 0 × 12 = 12 × 2 = 10 × 12 = 7 × 12 = 1 × 12 = 12 × 11 = 3 × 12 = 12 × 9 = 8 × 12 = 5 × 12 = 12 × 0 = 12 × 6 = 12 × 8 = 12 × 5 = 12 × 2 = 12 × 10 = 4 × 12 = 12 × 12 = 9 × 12 = 12 × 11 = 12 × 1 = 12 × 7 = 12 × 3 = 12 × 11 = 12 × 4 = 5 × 12 = 12 × 3 = 9 × 12 = 12 × 12 = 12 × 8 = 0 × 12 = 1 × 12 = MatesLibres.Com



Multiplicación (G) RespuestasHalle cada producto.12 × 12 = 144 2 × 12 = 24 0 × 12 = 0 11 × 12 = 1329 × 12 = 108 8 × 12 = 96 12 × 3 = 36 1 × 12 = 125 × 12 = 60 7 × 12 = 84 10 × 12 = 120 6 × 12 = 724 × 12 = 48 12 × 12 = 144 12 × 5 = 60 9 × 12 = 10812 × 8 = 96 12 × 7 = 84 12 × 10 = 120 12 × 6 = 720 × 12 = 0 12 × 11 = 132 12 × 2 = 24 3 × 12 = 3612 × 4 = 48 1 × 12 = 12 12 × 12 = 144 12 × 7 = 8412 × 10 = 120 12 × 4 = 48 6 × 12 = 72 12 × 3 = 368 × 12 = 96 2 × 12 = 24 11 × 12 = 132 12 × 9 = 1080 × 12 = 0 12 × 1 = 12 12 × 5 = 60 7 × 12 = 844 × 12 = 48 6 × 12 = 72 3 × 12 = 36 8 × 12 = 960 × 12 = 0 10 × 12 = 120 12 × 11 = 132 12 × 12 = 1442 × 12 = 24 5 × 12 = 60 12 × 1 = 12 9 × 12 = 10812 × 3 = 36 4 × 12 = 48 12 × 12 = 144 11 × 12 = 13212 × 1 = 12 12 × 7 = 84 5 × 12 = 60 0 × 12 = 010 × 12 = 120 6 × 12 = 72 9 × 12 = 108 12 × 2 = 248 × 12 = 96 12 × 12 = 144 12 × 12 = 144 12 × 6 = 720 × 12 = 0 12 × 2 = 24 10 × 12 = 120 7 × 12 = 841 × 12 = 12 12 × 11 = 132 3 × 12 = 36 12 × 9 = 1088 × 12 = 96 5 × 12 = 60 12 × 0 = 0 12 × 6 = 7212 × 8 = 96 12 × 5 = 60 12 × 2 = 24 12 × 10 = 1204 × 12 = 48 12 × 12 = 144 9 × 12 = 108 12 × 11 = 13212 × 1 = 12 12 × 7 = 84 12 × 3 = 36 12 × 11 = 13212 × 4 = 48 5 × 12 = 60 12 × 3 = 36 9 × 12 = 10812 × 12 = 144 12 × 8 = 96 0 × 12 = 0 1 × 12 = 12MatesLibres.Com



Multiplicación (H)Halle cada producto.12 × 6 = 1 × 12 = 12 × 7 = 12 × 3 = 12 × 0 = 2 × 12 = 11 × 12 = 12 × 9 = 10 × 12 = 12 × 12 = 12 × 8 = 12 × 5 = 4 × 12 = 11 × 12 = 11 × 12 = 12 × 3 = 12 × 5 = 8 × 12 = 12 × 1 = 12 × 9 = 7 × 12 = 12 × 6 = 2 × 12 = 0 × 12 = 12 × 12 = 12 × 4 = 12 × 11 = 7 × 12 = 3 × 12 = 0 × 12 = 12 × 12 = 12 × 5 = 12 × 1 = 12 × 4 = 8 × 12 = 2 × 12 = 6 × 12 = 12 × 9 = 12 × 10 = 12 × 6 = 8 × 12 = 12 × 1 = 12 × 11 = 4 × 12 = 10 × 12 = 7 × 12 = 12 × 3 = 12 × 12 = 12 × 5 = 2 × 12 = 0 × 12 = 12 × 9 = 3 × 12 = 12 × 5 = 12 × 9 = 12 × 0 = 6 × 12 = 10 × 12 = 12 × 12 = 12 × 2 = 7 × 12 = 12 × 1 = 12 × 4 = 8 × 12 = 11 × 12 = 7 × 12 = 12 × 2 = 12 × 0 = 12 × 5 = 8 × 12 = 9 × 12 = 10 × 12 = 1 × 12 = 11 × 12 = 4 × 12 = 6 × 12 = 3 × 12 = 12 × 12 = 12 × 10 = 6 × 12 = 12 × 11 = 5 × 12 = 12 × 12 = 3 × 12 = 12 × 0 = 8 × 12 = 7 × 12 = 12 × 4 = 1 × 12 = 12 × 2 = 12 × 9 = 12 × 8 = 12 × 5 = 1 × 12 = 12 × 6 = 12 × 11 = 2 × 12 = 12 × 12 = 12 × 7 = 0 × 12 = MatesLibres.Com



Multiplicación (H) RespuestasHalle cada producto.12 × 6 = 72 1 × 12 = 12 12 × 7 = 84 12 × 3 = 3612 × 0 = 0 2 × 12 = 24 11 × 12 = 132 12 × 9 = 10810 × 12 = 120 12 × 12 = 144 12 × 8 = 96 12 × 5 = 604 × 12 = 48 11 × 12 = 132 11 × 12 = 132 12 × 3 = 3612 × 5 = 60 8 × 12 = 96 12 × 1 = 12 12 × 9 = 1087 × 12 = 84 12 × 6 = 72 2 × 12 = 24 0 × 12 = 012 × 12 = 144 12 × 4 = 48 12 × 11 = 132 7 × 12 = 843 × 12 = 36 0 × 12 = 0 12 × 12 = 144 12 × 5 = 6012 × 1 = 12 12 × 4 = 48 8 × 12 = 96 2 × 12 = 246 × 12 = 72 12 × 9 = 108 12 × 10 = 120 12 × 6 = 728 × 12 = 96 12 × 1 = 12 12 × 11 = 132 4 × 12 = 4810 × 12 = 120 7 × 12 = 84 12 × 3 = 36 12 × 12 = 14412 × 5 = 60 2 × 12 = 24 0 × 12 = 0 12 × 9 = 1083 × 12 = 36 12 × 5 = 60 12 × 9 = 108 12 × 0 = 06 × 12 = 72 10 × 12 = 120 12 × 12 = 144 12 × 2 = 247 × 12 = 84 12 × 1 = 12 12 × 4 = 48 8 × 12 = 9611 × 12 = 132 7 × 12 = 84 12 × 2 = 24 12 × 0 = 012 × 5 = 60 8 × 12 = 96 9 × 12 = 108 10 × 12 = 1201 × 12 = 12 11 × 12 = 132 4 × 12 = 48 6 × 12 = 723 × 12 = 36 12 × 12 = 144 12 × 10 = 120 6 × 12 = 7212 × 11 = 132 5 × 12 = 60 12 × 12 = 144 3 × 12 = 3612 × 0 = 0 8 × 12 = 96 7 × 12 = 84 12 × 4 = 481 × 12 = 12 12 × 2 = 24 12 × 9 = 108 12 × 8 = 9612 × 5 = 60 1 × 12 = 12 12 × 6 = 72 12 × 11 = 1322 × 12 = 24 12 × 12 = 144 12 × 7 = 84 0 × 12 = 0MatesLibres.Com



Multiplicación (I)Halle cada producto.2 × 12 = 12 × 8 = 3 × 12 = 4 × 12 = 10 × 12 = 12 × 0 = 12 × 12 = 1 × 12 = 11 × 12 = 5 × 12 = 12 × 7 = 12 × 6 = 9 × 12 = 12 × 8 = 8 × 12 = 12 × 6 = 7 × 12 = 3 × 12 = 12 × 12 = 1 × 12 = 12 × 10 = 9 × 12 = 2 × 12 = 5 × 12 = 12 × 4 = 0 × 12 = 12 × 0 = 12 × 11 = 12 × 4 = 12 × 12 = 9 × 12 = 1 × 12 = 10 × 12 = 2 × 12 = 7 × 12 = 8 × 12 = 3 × 12 = 12 × 5 = 6 × 12 = 12 × 11 = 12 × 8 = 12 × 0 = 1 × 12 = 12 × 12 = 12 × 4 = 12 × 6 = 2 × 12 = 12 × 5 = 12 × 3 = 7 × 12 = 9 × 12 = 12 × 10 = 10 × 12 = 12 × 0 = 12 × 9 = 3 × 12 = 12 × 6 = 12 × 8 = 2 × 12 = 12 × 7 = 12 × 11 = 5 × 12 = 1 × 12 = 12 × 12 = 4 × 12 = 12 × 9 = 10 × 12 = 0 × 12 = 1 × 12 = 6 × 12 = 12 × 8 = 12 × 3 = 12 × 4 = 12 × 5 = 12 × 11 = 12 × 2 = 7 × 12 = 12 × 12 = 12 × 3 = 12 × 7 = 12 × 9 = 12 × 6 = 12 × 5 = 2 × 12 = 12 × 12 = 12 × 0 = 10 × 12 = 1 × 12 = 8 × 12 = 12 × 11 = 12 × 4 = 3 × 12 = 10 × 12 = 9 × 12 = 4 × 12 = 12 × 6 = 0 × 12 = 7 × 12 = 12 × 1 = 12 × 11 = MatesLibres.Com



Multiplicación (I) RespuestasHalle cada producto.2 × 12 = 24 12 × 8 = 96 3 × 12 = 36 4 × 12 = 4810 × 12 = 120 12 × 0 = 0 12 × 12 = 144 1 × 12 = 1211 × 12 = 132 5 × 12 = 60 12 × 7 = 84 12 × 6 = 729 × 12 = 108 12 × 8 = 96 8 × 12 = 96 12 × 6 = 727 × 12 = 84 3 × 12 = 36 12 × 12 = 144 1 × 12 = 1212 × 10 = 120 9 × 12 = 108 2 × 12 = 24 5 × 12 = 6012 × 4 = 48 0 × 12 = 0 12 × 0 = 0 12 × 11 = 13212 × 4 = 48 12 × 12 = 144 9 × 12 = 108 1 × 12 = 1210 × 12 = 120 2 × 12 = 24 7 × 12 = 84 8 × 12 = 963 × 12 = 36 12 × 5 = 60 6 × 12 = 72 12 × 11 = 13212 × 8 = 96 12 × 0 = 0 1 × 12 = 12 12 × 12 = 14412 × 4 = 48 12 × 6 = 72 2 × 12 = 24 12 × 5 = 6012 × 3 = 36 7 × 12 = 84 9 × 12 = 108 12 × 10 = 12010 × 12 = 120 12 × 0 = 0 12 × 9 = 108 3 × 12 = 3612 × 6 = 72 12 × 8 = 96 2 × 12 = 24 12 × 7 = 8412 × 11 = 132 5 × 12 = 60 1 × 12 = 12 12 × 12 = 1444 × 12 = 48 12 × 9 = 108 10 × 12 = 120 0 × 12 = 01 × 12 = 12 6 × 12 = 72 12 × 8 = 96 12 × 3 = 3612 × 4 = 48 12 × 5 = 60 12 × 11 = 132 12 × 2 = 247 × 12 = 84 12 × 12 = 144 12 × 3 = 36 12 × 7 = 8412 × 9 = 108 12 × 6 = 72 12 × 5 = 60 2 × 12 = 2412 × 12 = 144 12 × 0 = 0 10 × 12 = 120 1 × 12 = 128 × 12 = 96 12 × 11 = 132 12 × 4 = 48 3 × 12 = 3610 × 12 = 120 9 × 12 = 108 4 × 12 = 48 12 × 6 = 720 × 12 = 0 7 × 12 = 84 12 × 1 = 12 12 × 11 = 132MatesLibres.Com



Multiplicación (J)Halle cada producto.12 × 0 = 2 × 12 = 9 × 12 = 12 × 1 = 12 × 5 = 12 × 12 = 3 × 12 = 12 × 7 = 12 × 10 = 12 × 11 = 8 × 12 = 4 × 12 = 12 × 6 = 12 × 10 = 12 × 5 = 12 × 12 = 8 × 12 = 7 × 12 = 3 × 12 = 12 × 4 = 12 × 11 = 12 × 6 = 1 × 12 = 9 × 12 = 2 × 12 = 0 × 12 = 9 × 12 = 12 × 2 = 12 × 7 = 11 × 12 = 12 × 6 = 12 × 5 = 12 × 10 = 12 × 4 = 12 × 1 = 0 × 12 = 12 × 8 = 3 × 12 = 12 × 12 = 12 × 6 = 11 × 12 = 3 × 12 = 12 × 8 = 12 × 12 = 12 × 1 = 4 × 12 = 12 × 10 = 12 × 2 = 5 × 12 = 12 × 9 = 12 × 0 = 7 × 12 = 12 × 5 = 12 × 0 = 11 × 12 = 7 × 12 = 12 × 8 = 12 × 10 = 12 × 2 = 6 × 12 = 4 × 12 = 1 × 12 = 9 × 12 = 12 × 3 = 12 × 12 = 9 × 12 = 12 × 2 = 12 × 10 = 5 × 12 = 3 × 12 = 11 × 12 = 12 × 12 = 12 × 0 = 12 × 4 = 7 × 12 = 12 × 1 = 8 × 12 = 12 × 6 = 12 × 5 = 9 × 12 = 12 × 4 = 12 × 3 = 8 × 12 = 0 × 12 = 12 × 12 = 7 × 12 = 2 × 12 = 11 × 12 = 6 × 12 = 1 × 12 = 10 × 12 = 6 × 12 = 12 × 8 = 0 × 12 = 12 × 11 = 4 × 12 = 7 × 12 = 12 × 2 = 12 × 3 = 12 × 1 = MatesLibres.Com



Multiplicación (J) RespuestasHalle cada producto.12 × 0 = 0 2 × 12 = 24 9 × 12 = 108 12 × 1 = 1212 × 5 = 60 12 × 12 = 144 3 × 12 = 36 12 × 7 = 8412 × 10 = 120 12 × 11 = 132 8 × 12 = 96 4 × 12 = 4812 × 6 = 72 12 × 10 = 120 12 × 5 = 60 12 × 12 = 1448 × 12 = 96 7 × 12 = 84 3 × 12 = 36 12 × 4 = 4812 × 11 = 132 12 × 6 = 72 1 × 12 = 12 9 × 12 = 1082 × 12 = 24 0 × 12 = 0 9 × 12 = 108 12 × 2 = 2412 × 7 = 84 11 × 12 = 132 12 × 6 = 72 12 × 5 = 6012 × 10 = 120 12 × 4 = 48 12 × 1 = 12 0 × 12 = 012 × 8 = 96 3 × 12 = 36 12 × 12 = 144 12 × 6 = 7211 × 12 = 132 3 × 12 = 36 12 × 8 = 96 12 × 12 = 14412 × 1 = 12 4 × 12 = 48 12 × 10 = 120 12 × 2 = 245 × 12 = 60 12 × 9 = 108 12 × 0 = 0 7 × 12 = 8412 × 5 = 60 12 × 0 = 0 11 × 12 = 132 7 × 12 = 8412 × 8 = 96 12 × 10 = 120 12 × 2 = 24 6 × 12 = 724 × 12 = 48 1 × 12 = 12 9 × 12 = 108 12 × 3 = 3612 × 12 = 144 9 × 12 = 108 12 × 2 = 24 12 × 10 = 1205 × 12 = 60 3 × 12 = 36 11 × 12 = 132 12 × 12 = 14412 × 0 = 0 12 × 4 = 48 7 × 12 = 84 12 × 1 = 128 × 12 = 96 12 × 6 = 72 12 × 5 = 60 9 × 12 = 10812 × 4 = 48 12 × 3 = 36 8 × 12 = 96 0 × 12 = 012 × 12 = 144 7 × 12 = 84 2 × 12 = 24 11 × 12 = 1326 × 12 = 72 1 × 12 = 12 10 × 12 = 120 6 × 12 = 7212 × 8 = 96 0 × 12 = 0 12 × 11 = 132 4 × 12 = 487 × 12 = 84 12 × 2 = 24 12 × 3 = 36 12 × 1 = 12MatesLibres.Com
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